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0.5 mole of H2SO4 is mixed with 0.2 mole of
Ca(OH)2. The maximum number of moles of
CaSOq4 formed is

1)0.2

2) 0.5

3)0.4

4)0.1

If the P.E. of an electron is —6.8 eV in hydrogen
atom then its kinetic energy is

1)3.4eV

2)-3.4eV

3)6.8eV

4) -6.8 eV

Cu reacts with dil. HNOgz solution to give
1) NO

2) N2O

3) NO2

4) N2Os

Equivalent weight of bivalent metal is 32.7.
Molecular weight of its chloride is

1) 68.2

2) 103.7

3) 136.4

4) 166.3

The fusion of chromite ore (FeCr204) with
sodium carbonate in excess of air gives

1) Na2Cr207, FeO, CO>

2) Na2Cr207, Fe203, CO2

3) Na.CrOg4, FeO, CO:

4) NaxCrOg, Fe203, CO3

Total number of Cr — O — Cr bond(s) in Cr,05?2
IS

1)6

2) 10

3)1

4)4

1

01.

02.

03.
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05.

06.

H2SO04 et 0.5 Gomed Ca(OH)2 §est 0.2 Giomed
o La sevdbasliubdpa. CaSOs et oiHsLl
GLomev e 6rTl6oT 6T6NT 600N 6

1)0.2

2) 0.5

3)0.4

4)0.1

@ eTevaL_greflesr P.E. enaml yegen oigmiaied —6.8
eV o_eiTengl SIH6iT BUIHS BB6L

1)3.4eV

2)-3.4eV

3) 6.8eV

4) -6.8 eV

Cu it HNO3 allenenryflibg Gar®LiLg
1) NO

2) N2O

3) NO2

4) N2Os

rflenent Hmeir OBmeniL o Be0magd560T FLOT60T 6T6mL
32.7. &BenTenIgent (LP6VSHInBI 6TeML

1) 68.2

2) 103.7

3) 136.4

4) 166.3

&G Hrg  (FECr20s)  Gamguuid
STTUCHI_ (LT DIHHSH STBBIL T Eenewlh]
SleMlILG
1) Na2Cr.0y7, FeO, CO,
2) Naz2Cr207, Fe203, CO2
3) Na.CrOg4, FeO, CO;
4) Na2CrOa, Fe203, CO2
Cr052@60 o _eiten Cr — O — Cr 1enemtiiLseriei
OILoTSH S eTemT60NHENS
1)6
2) 10
3)1
4) 4
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Identify the incorrect match.

1) [Cr(NH3)s][Co(CN)e]-Coordination
isomerism

2) [Co(NH3)s5(SO4)]Br - lonisation isomerism

3) [Pt(NH3)2Cl] -Optical isomerism

4) [Co(NH3)s(NO2)]Cl.-Linkage isomerism

The magnetic moment of [Ti(H20)e]** is
1) 1.73 BM
2) 2.84 BM
3) 3.87 BM
4) 4.90 BM

Which of the following is an amphoteric oxide?
1) SnO only

2) SnOz only

3) PbO only

4) All of these

Consider the following reaction,
NazB40O7 + H2SO4 + H20 — Products
This leads to the preparation of

1) B2O3

2) HBO:

3) H3BO3

4) B2Hs

The most basic compound among the following

Dumas method is used for estimation of
1) Chlorine

2) Hydrogen

3) Nitrogen

4) Carbon
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SHUMBTET GUT[HSHHHMSB DML UITETLD HTEIRLD.
1) [Cr(NHz3)s][Co(CN)s]-oiememiay ommnsluid

2) [Co(NH3)5(S04)]Br — eyueflwinge0 wrmpluib
3) [Pt(NH3)2Cl2] -geflufuied ormpluid

4) [Co(NH3)s(NO2)]Cl2-@ememiged ommpiluiid

[Ti(H20)6]** @61 s1b53 HpiiHmpei
1) 1.73 BM
2) 2.84 BM
3) 3.87 BM
4) 4.90 BM

Leteu(meuateuBmled FMWeOLSHSHTEND  OlBTemTL
AHmF0H 61517
1) SnO only
2) SnO; only
3) PbO only
4) All

LetTeu(HLD eleneaTeniLiss &H6v6dULHBIGH6NT,

NazB407 + H2SO4 + H20 — alenen@Qunmeiiaselt
6151 SWTILILSHBE euflelESSBSI

1) B2O3

2) HBO:

3) H3BO3

4) B2Hs

LevTeu(meueasteuBsled LOSAILD HMYHHETeND O\SHT6uoTL
HEVEM6L

Hs Q‘N _CH;

, O

g HLIIBeusBEG BLOTE (LpedB
LWSTLGSSILIGSBSH

1) @Bemmiflest

2) el [Feges

3) e»bL Jegest

4) &ituest
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13. Which of the following aqueous solutions should

14.

15.

16.

17.

have highest osmotic pressure?
1) 0.001 M AICl3 at 50°C

2) 0.03 M NaCl at 25°C

3) 0.012 M (NH,)2S04 at 25°C
4) 0.03 M NaCl at 50°C

Which of the following is a polar molecule?
1) BFs3

2) CO,

3) SiCls

4) PH3

When cold and dilute alkalies reacts with
chlorine, it leads to formation of chloride ion and
1) Hypochlorite ion
2) Chlorite ion
3) Chlorate ion
4) Perchlorate ion

The structure of product X in the following

reaction is
CH,

i "NO,

NH,

P

CH;

(i) MaNO, + HCI(273 - 278 K)
(i) H,PO,, H,0 -

1) NO;
CHs

NO;
2) OH
CHs

NH>
3) NH:
CH;3

NO;
4) NOZ

(i) CH3MgBr \H2804 (i) BoHg/THF C.
(1) H,0/H® A~ (un) H,0,/0H"
Aand C are

1) Identical

2) Position isomers

3) Chain isomers

4) Metamers

CH5CHO

www.TrbTnpsc.com

14.
1) BFs
2) CO,
3) SiCls
4) PH3

15.

2) &GenmenyL &juie
3) &BemGyL e

CH.

13. daeumd  apbg BHiw sopFaselsd oigs
F6116),(HLIT6U6V OI(LPSHIHLD D (HH® Ceuami(BLd?
1) 0.001 M AICl3 at 50°C
2) 0.03 M NaCl at 25°C
3) 0.012 M (NH4)2SO4 at 25°C
4) 0.03 M NaCl at 50°C

Ueireu(meuesioumnsied (LoeneteyBm cLpeudInml 61517

&6eMihd LOBBID HIHSH STIMmIS6T GGenmifledr © L 6ot
aleweryflud Cungl, Sk GCeaTenyd  Ojuledl
OBDBILD o (HeauTeuHBE audleu@GoHImE

1) wamtiGumT@Bemmenyl. ©jutes
4) Qu&GemByL. Syuie
16. Yesreumd aflenenuied allenen@UIT(HeT X-63T SiewLoLiL]

(i) NaNO, + HCI(273 - 278 K)

NH
CH;

1) NO:
CHs

NO»
2) OH
CHs

NH>
3) NH:
CHs

NO>
4) NO

(i) CH3;MgBr

(1) H,0/H®
A and C aiasiug)
1) Gy ordfluimest

17.CH;CHO

4) QoL LMDy &e6iT

3

=

(ii) H,PO,. H,0

H,S0, _ (i) ByHe/THF
A (1) H,0,/OH-

2) B SIemLDa)]| OMBSILIKIE6IT
3) gmidlel OmBASILITIEG6IT
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18. Which of the following is most reactive towards

SN2 reaction?
CHs;

1) Cl
0
i

c. ¢
,J

3) (CHz)3C-Cl
4) CH3CH2CHCICH3

19. Which one of the following is most stable?

]
CHa>

s

1) CN
®
CHa

20. Which of the following is not true?

1) Glucose does not give 2,4-DNP test

2) Fructose gives Tollen's test
3) Uracil base is present in DNA
4) RNA has a single strand structure

21. The reaction is known as
OH OH

i f COOH
1. NaOH
—_—
2.CO,
aH
1) Aldol condensation
2) Hell-Volhard-Zelinsky reaction
3) Stephen reaction

4) Kolbe's reaction

18.

19.

20.

21.
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Uestaumeuatoumniled 61& SN2 alenerid@ dead
alenenshaHmest CbmemrLg)?

a
)

1) «l
i

Cl
O 7

3) (CHs)sC-Cl
4) CH3CH2CHCICHjs

LevTeu(meueasteuBnsle 6181 LOSA|LD MHleneouITenTd)?
@
CH:2

LedTeu(mHeueTeuBley 6151 SHeummendl?

1) ®enéCsrad 2,4-DNP Gargemenenut Hma

2) UysBLmerd Lmeveriler GamsHemaien SieMbS Bl
3) wBrdlev &myib DNAaTeL o _siteng)

4) RNA giepuilenip Sieniolientids GamewniBeiternd)

SLDFH 6T enedt 6T6leUTHI SISIWILILGSBS
OH OH
COCH

(i 1. NaOH (j

—_—

2. CO,

3 H
1) 91601 T60 @BHBID
2) Gamed-BaurebammL -Gizgeveiterdd allenet
3) erdleLies allenet
4) Baimev. L1651 61l 6ment
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22. Identify the incorrect match
1) Glucose - Non-reducing sugar
2) Sucrose - Glycosidic linkage
3) Insulin - Peptide linkage
4) B-D-ribose- Pentose sugar

23. Final product in given reaction sequence is

NaNH
Vinyl chloride A AM)
Iron Tube
1) Phenol
2) Benzene

3) Benzaldehyde
4) Naphthalene
24. In below reaction, product P is
MgBr )
(1)CO, N P
(ihH,0* ~
CHO

1)
COOH

2)
OH

,@

i
4y CH.—C—CH.

25. Correct order of boiling point is:-
1) HF > HCI > HBr > HI
2) HI > HBr > HCI > HF
3) HF > HI > HBr > HCI
4) HCI > HBr > HI > HF

Acetic

NaCN _ Ni/H,
26. CH3CHCI X

anhydride

1) CH3CH2CH2NH:

2) CH3CH2CH2NHCOCHs3
3) CH3CH2NHCOCH;3

4) CH3CH2CH2CONHCH3

Ph—-H

Et—MgBr

27. CH3COOH + PCls —» A

Product C is:

1) CH3CH(OH)CH.CH3

2) CH3COPh

3) CH3CH(OH)Ph
CH;CH, C (OH)Ph

4) CH3

B
AlC,

H,0

Z.Zis

C

22.

23.

24.

25.

26.

27.
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SHUDBTET QUT(HSHHHMS HIGHLUITETILD HT6EmT6LD
1) & eps8HTan - GHMBHBNH FJHDHM]

2) &&Gmerd - HenenBardligd BeneuwiliL|

3) Beiraeden - QUILIHL L Ben6ulLiL |

4) B-D-enyGuimerd- QetGLmTerd Fijebebemiy

Carhssiul L alwer auflmauied @mig
allenemGILIT(hHeiT
NaNH
alleneted GHGenmmeny® 2 M
A Iron Tube
1) Seormed
2) Quiesteeit
3) QuesTFTeLIg AL
4) BrigeSest
Reuaienenuied ellensnOLITheiT P sTeitig
MgBr .
(1)CO, |
y B P
(11)H,;0
CHO
1)
COOH

0O

2)
OH
,©
I
gy CH—C - CH,

CaTaBensvenwitl QuUTHSHE Fhlwimer auflena
1) HF > HCI > HBr > HI
2) HI > HBr > HCI > HF
3) HF > HI > HBr > HCI
4) HCIl > HBr > HI > HF

NaCN _ Ni/H, Acetic .
CH3CH_2ClI anhydride Z. Z aiehiigl
1) CH3CH2CH2NH:

2) CH3CH>CH2NHCOCH3
3) CH3CH2NHCOCHs3
4) CH3CH2CH>,CONHCH3
Ph—H Et—-MgBr
CHsCOOH+PCIls — A B C.
AlCl, H,O0

alewenOumme C ereiiLig

1) CH3CH(OH)CH2CH3

2) CH3COPh

3) CH3CH(OH)Ph
CH,CH, (|: (OH)Ph
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A mixture of benzaldehyde and from aldehyde
on heating with aqueous NaOH solution gives: -
1) PhCH>~ OH and HCOONa

2) PhCOONa and CH30OH

3) PhCOONa and HCOONa

4) Ph—CH; — OH and CH3OH

Which of the following samples contains the
largest number of atoms?

1) 1 g of Ni(s)

2) 1 g of Ca(s)

3) | g of N2(g)

4) | g of B(s)

Which of the following solutions has the highest
pH?

1) 0.10 M KNO3

2) 0.10 M AICl3

3) 0.10M NH4CI

4) 0.10 M CH3NH:>

Which oxidation state of chromium is (i) most
easily oxidised, (ii) most easily reduced?

1) +3, +6,

2) +2, +3

3) +3, +3

4) +2, +6

The correct formula to calculate the hydroxyl ion
concentration of an aqueoussolution of

, CKyy

2) KW:KIJ

, CKyy
3) K_a
2) KaxKy,

c

Which among the following is a diamagnetic
species?

1) O

2) C

3) B2

4) NO

If bond dissociation enthalpies of H., Br2 and
HBr respectively are 435 kJ mol*, 192 kJ mol*
and 368 kJ mol™, respectively then the enthalpy
change during the reaction Hz(g) + Br2(g) —
2HBr(Q), is

1) -137 kJ

2) -109 kJ

3) -259 kJ

4) 259 kJ

6
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Questigmevgema(BLD, UTToTevgemamhy NaOH
(psitefiemeousd Ceul Il ILIBHHIDCUTEH QHBTBLILGE]
1) PhCH>~ OH and HCOONa
2) PhCOONa and CH30OH
3) PhnCOONa and HCOONa
4) Ph—CH> — OH and CH3sOH

LT 6076 (H6) 60T B 3I6TT
OsremiLgl 6117
1) 1 g of Ni(s)
2) 1 g of Ca(s)
3) 1 g of N2(g)
4) 1 g of B(s)

HH WIS HM6ENE

155 PH wHLILemL W HdTFeL 61817
1) 0.10 M KNO3

2) 0.10 M AICl3

3) 0.10M NH4CI

4) 0.10 M CH3NH>

GCrmAWS e 61bFH P HFBeBMm Hlensv
(1) W& erel 60 D HFMBeaBBLOML BB
(i) Vs e16lF60 @BHHBLOML FBSH)

1) +3, +6,

2) +2, +3

3) +3, +3

4) +2, +6

bl Bemraedevieien enaml Jrehdled Siuieoeri e
Qanslemeld seuwldbaIBLD euTuILIT{H

Nrm

Levteu(heuasteuBled e ML WITSTHS eUeDSD 6117
1) O

2) C

3) B2

4) NO

Hz, Br2 wpmib HBr syslweumpiesr Nemewriiy]
Wemeymi  eteiigmeoLlser (pewm@u 435k mol?,
192kJ mol™ wimib 368 kJ mol™ eys B mbaTsn,
H2(g) + Bra(g) — 2HBr(g) alemenuieiGumrg
gBUBLD eTHIHTEOLT LOTHBMBLD

1) -137 kJ

2) -109 kJ

3) -259 kJ

4) 259 kJ
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What is the pH of a saturated solution of
Cu(OH)2?

(Ksp = 2.6 x 10°%9)

1)6.1

2) 7.30

3) 8.42

4) 7.90

Which of the following does not undergo aldol
condensation?

1) Ethanal

2) Methanal

3) Propanone

4) Butanone

The rate of reaction becomes 2 times for every
10°C rise in temperature. By what factor the rate
of reaction increases when temperature is
increased from 30°C to 80°C?

1) 16

2) 32

3) 64

4) 128

Which of the following is least reactive allotrope
of phosphorus?

1) Black

2) Red

3) Yellow

4) All are equally reactive

Which of following is an incorrect statement?

1) Tendency to show +2 oxidation state increases
in the sequence Ge < Sn <Pb

2) SiFZ~ does not exist

3) Lead is unaffected by water

4) CCly is unaffected by water at low temperature

Which of the following is most acidic?
1) CCIsCOOH

2) CF3COOH

3) NCCH.COOH

4) CH.CICOOH

Total vapour pressure of a mixture formed by
two volatile components A(Pa° = 500 mm Hg)
and B (Pg° = 700 mm Hg) in 2: 3 molar ratio will
be

1) 700 mm Hg

2) 400 mm Hg

3) 620 mm Hg

4) 690 mm Hg

7
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Cu(OH)2 ®e Blevmeymm senygedet pH ereses?
(Ksp = 2.6 x 10°%9)

1)6.1

2)7.30

3) 8.42

4)7.90

LeiTau(heuaiouBplied  SLeOLTe0  BHBHIH MG
o LuLTs g e1gl?
1) e15sem60
2) Qg 660
3) uytiuGerrest
4) Nuy L Bevrmest

@6uGeuTm 10°C QeutiuBlensv 2 _wiFea|dh@&Id alleneot
aisIb 2 1LMIG oudmgl. Geuliuplenso 30°C (1pgHed
80°C auemy oFafld@d Cuig alamen aldlsbd
61h& STT6NIILIT6D D13 BiflbSImaI?

1) 16

2) 32

3) 64

4) 128

emaumeuateuBplled  LImeroLTeIall  (GHMBHS
allemendment GameniL LmGauBmienid allgelld 6157
1) sl
2) fauliy
3) woehFeit
4) SImISHSID FIOTSH il anETULITBIIE6SI360

LTledTeu(mHeuesTeuBmlen 6181 SHeuUBTen SaiyI?

1) Ge < Sn < Pb euflewguied +2 oyédmGamm
Blemev BT Heudled HIFHBFHGLD euflens

2) SiF2™ BeneusamriLssbenev

3) Fwilb SHemtenfymed LITEdbEUILIL T

4) CCls Gophs OCaniupemed  Csmewi
SHETERIT60 LITSH HBHUILL TSI
LeireumeuaiouBpled 61g DIFHd  DILH60SHH6TeNLD

OmemiL_gl?

1) CCIs;COOH

2) CFsCOOH

3) NCCH,COOH
4) CH2CICOOH

2 : 3 Gwmeury aldndhdleo A(PA® =500 mm Hg)
wpmpd B(Pe® = 700 mm Hg) sydwi Syewi(
SLIWLITGLD FnBIH6NTED o (HeUTsSUILIL L
seveneuuiler GIoms g BITal OILPSHSHLD

1) 700 mm Hg

2) 400 mm Hg

3) 620 mm Hg

4) 690 mm Hg
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Reduction potential of hydrogen electrode at pH
of 4 and at 0.01 atm hydrogen gas pressure will
be

1)-0.71V

2)-0.177V

3)-1.77V

4)-7.1V

pH of an aqueous solution of 0.1 M
CH3COONHs will be (KaCH3COOH) =
Kb(NHsOH) = 1.8 x 10°°)

1) 7

2)5

3)9

4) 13

The equilibrium constant for the reaction

N204(g) = 2 NO2(g) is 6.10 x 10~ at 25°C.
Calculate the value of k for this reaction:
NO2(g) = (1/2) N204(g)

1) 327

2) 164

3)12.8

4)3.05x 1073

For which of the following reactions, AH is not
equal to AE?

1) Ha(g) + 12(g) = 2 HI(g)

2) C(s) + Oz(9) = CO2(9)

3) N2(g) + 3H2(g) = 2NH3(g)

4) None of these

8
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pH 4 ompid 0.01 atm ewami yeesr  eumu|
S(HHHH 60 maBL T LOleT(Lpenetuilell bhdbs
LI GTE(LDSHSHLD
1)-0.71V
2)-0.177 V
3)-1.77V
4)-71V

0.1 M CH3COONHs @61 pilw senggeder pH
(Ka(CH3COOH) = Kun(NH4OH) = 1.8 x 107°)
1)7

2)5

3)9

4) 13

N20O4(g) = 2 NOz(g) is 6.10 x 107 erems
alenauiler Fomlensv wrmlel) waliy 25°C 60 6.10 X
1073 oy ib. arafled Sipsami eflenanuisir K gy
wng!?

NO2(g) = (1/2) N204(g)
1) 327

2) 164

3)12.8

4) 3.05x 1072

SpHWIL 61hdH alemenuisd AH 1b, AE ujb o
®6vemev?

1) Ha(g) + 12(9) = 2 HI(9)

2) C(s) + 02(g) = CO2A(9)

3) N2(g) + 3H2(g) = 2NHs(9)

4) None of these
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CHEMISTRY FULL PORTION CLASS 11t & 12t (22.01.2025) 45x4=180 MARKS

Solution

01. Answer (1)
Equivalent of H)SO4 =0.5x 2 =1

Equivalent of Ca(OH)2 =0.2x2=0.4

=~ Equivalent of CaSOy4 formed = 0.4

08. Answer (1)
[Ti(H20)6]** contains Ti* ion of outer electronic
configuration of 3d'.
So, magnetic moment

nin 2

= fi<3=.3 =1.732BM

0.4
Mole of CaSO4 formed = - =0.2 maol 09. Answer (4)
SnO, SnOz, PbO and PbO: are all amphoteric
02. Answer (1) oxides
-PE  —{-b.B
KE = o= I‘ > ]= 34 eV 10. Answer (3)

03. Answer (1)
3Cu+8HNO3(dil)—>3Cu(NO3)2+2NO+4H20

04. Answer (3)

Equialent weight = Atomic mass

Na2B407 + H2SO4 + H2O — H3BO3 + NaxSO4
11. Answer (3)

Due to presence of localised lone pair of electron

in option (3), it is most basic.

12. Answer (3)

r-factor Dumas method is used for quantitative
estimation of nitrogen in organic compounds.
27=1
2 13. Answer (4)
¥ = 65.4 TX,tXT

x = Atomic mass of metal

Formula is MClo then weight of chloride is

65.4 +2 x 35.5=136.4

05. Answer (4)

4FeCro04 + 5NaxCO3 + 702 — 8NaxCrO4 +

=~ 1 18 highest for 0.03 M NacCl at 50°C.

14. Answer (4)
PHj3 is polar molecule since its pR # 0

15. Answer (1)
Cl2 + 2NaOH — NaCl + NaOCl + H20
OCI™ (Hypochlorite ion)

2Fe>03 + 8CO» 16. Answer (1)
CH, CH,
06. Answer (3) - NaMNO, + HCI
\ )'1—)& / NO, @73 - 278 K) “No,
NH, N;CI”
|I I|
CH.
H.PO, H.0
07. Answer (3) M, +HPO,+ HCl + —
[Pt(NH3).Cl>] does not show optical isomerism NO,

1
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17. Answer (2)

CH,
i) CHMgB I H.20
CH.CHO——5—— CH,—C - OH ==+
A I
[A)

HBO
CH, - CH = CH,——— CH, - CH, — CH.OH

=) ({81

18. Answer (2)
Conjugation with carboxyl group is much more
effective for Sn2 reaction than with simple
alkene or benzene ring.

19. Answer (2)
In option (2) due to more hyperconjugation,
stability of carbocation will be most

20. Answer (3)
Uracil base is not present in DNA.

21. Answer (4)
Given reaction is known as Kolbe's reaction

22. Answer (1)
* Glucose is a reducing sugar
* Sucrose is non-reducing sugar, has glycosidic
linkage
* Insulin also has peptide linkage
* B-D-ribose is pentose sugar, which is present in
RNA molecule

23. Answer (2)

CH, = CH — CI = HC =CH
Fed Hot
Fetube

24. Answer (2)

25. Answer (3)
HCI < HBr < HI < HF Explanation: Due to
hydrogen bonding Hf contains high Boiling
Point.

26. Answer (2)

NaCN Ni/H,
CH3CH,Cl —— CH3CH,CN ——3 CH3CHa
(CH5;C0),0
CH2NH; ———25 CH3CH,CH;NHCOCH;

27. Answer (4)

28. Answer (1)

2

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

30.

40.

41.

42.

43.

44,

45.
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Answer (4)

Larger is the number of moles, larger is the
number of molecules.

As molar mass of B is lowest (=11 g), it will have
larger number of moles. Hence, its 1 g will have
highest number of molecules and moles.
Answer (4)

Answer (4)

Answer (2)

Answer (2)

Answer (2)

Answer (4)

Answer (2)

Answer (2)

Answer (1)

Answer (2)

Answer (2)

Answer (3)

Answer (2)

Answer (1)

Answer (3)

Answer (3)
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